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PART - A [50 x 1 =30]

Imagine, a protein 1s made up 121 aminoacids, then how many Nitrogen
bases are involved in the formation of sensible codons in m-RNA that is
required for the synthesis of protein.

(A) 121 (B) 122

(C) 363 (D) 369

Arbuscular mycorrhizal (AM) fungi have a symbiotic association with 90%
of terrest rial plant roots and it mainly aids in

(A) It fixes atmospheric Nitrogen

(B) It kills the soil pathogens

(C) It aids in the absorption of water

(D) It aids in the absorption of phosphorus

The most largest organisms in a food chain is as .
(A) Primary consumers (B) Secondary consumers
(C) Producers (D) Decomposers

Enzyme is present in almost every living cell. It has a property to
decompose H,O, into H /O and O,.
(A) Catalase (B) Urease
(C) Amylase (D) Maltase

The end products of anaerobic respiration or Fermentation.
Ay CHOH:CO, =~ - B) CO,+0,
(C) 0,+H,0 (D) CO,+H,0

Antony van Leeuwenhoek (1632-1723), the discoverer of the microbial world
and he belongs country.

(A) Irish (B) Scotland

(C) Halland (D) USA

A group of organisms at any particular level in a classification system is
called as

(A) Species (B) Genus

(C) Taxon (D) Phylum
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8. Electron chains in prokaryotes operates in plasma membrane, as are
absent in prokaryotes.

(A) Mesosomes (B) Chromosomes
(C) Mitochondria (D) Nucleus

9. The expanded words of RSNC is as
(A) Reginal Society for Nature Conservation
(B) Royal Society for Nature Conservation
(C) Reserve Society for Normal Community

(D) Remote System for Natural Conservation

10. In E.coli, the DNA molecule has 1000-1100pm length with more than
nucleotide pairs.

(A) 3.235x10° (B) 3.325x10°
(C) 3.335x10* (D) 3.3215%10°

11. Many xenobiotic pollutants that have proven recalcitrant to microbial attack are
halocarbons these halocarbons are chemically and biologically very :

(A) Stable (B) Unstable
(C) Soluble in water (D) Insoluble in water

12. The world health organization biosafety manual states that “No biosafety cabinet
or procedure alone guarantees safety unless the user operates safe techniques. It
is the responsibility of a, b, ¢, d. and you must select one which 1s in order.

(A) Individual — Laboratory workers — Managers
(B) Everyone— Managers — Laboratory workers

(C) Laboratory workers — Everyone — Managers
(D) Managers — Laboratory workers — Everyone

13. Aerobe is an organism that lives in air and uses oxygen as the terminal electron

accepter 1n
(A) Respiration (B) Photosynthesis
(C) Imbibition (D) Plasma membrane
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14.

15.

16.

17.

18.

19.

Polylinker is a short synthetic fragment of DNA containing sequence for several
restruction

(A) Polynucleases (B) DNA nucleases
(C) Endonucleases (D) Mononucleases

The phototrophic bacteria has two accessory pigments, they are carotenoids
and phycobiliproteins the main function of phycobili proteins are

(A) Regulation of CO, (B) Light harvesting
(C) Protein-synthesis (D) Transfer of electrons

Biosafety information network and advisory service, aimed at monitoring the
global development in regulatory issue, and it deal in the subject of

(A) Environmental biology (B) Microbiology
(C) Marine biology (D) Biotechnology

Two of the following scientiests experimented with the transfer of genes in to
protoplast by using plastids as vectors.

(A) Watson and Crick (B) J.H: Dodds and Bengochea
(C) F. Skoog and C.O. Miller (D) S.G. Guha and S.C.Maheswari

Transduction is the transfer of genetic information from one cell to another by
means of ;

(A) T-plasmids (B) By yeasts
(C) Viral Vectors (D) By cytochrome

Robert H. Whittaker (1969) who, proposed the five kingdom concept in the
classification with inclusion of micro organisms, based on cellular organization
and choose one is the correct order in arrangement.

(A) Protesta — Monera — Fungi — Plantae — Animilia
(B) Fungi — Protesta — Monera — Plantae — Animilia
(C) Monera — Protesta — Fungi — Plantae — Animilia

(D) Plantae — Fungi — Protesta — Monera — Animilia
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20.

21.

22.

23.

Species of Rhizobium forous nodules and participate in the symbiotic acquisition
of nitrogen. While Brady rhizobium strains are slow grower, where generation
time is about or more

(A) 12 hrs or more (B) 14 hrs or more
(C) 16 hrs or more (D) 20 hrs or more

Read the following statement A and B. Choose the correct answer in the options
given.

Statement A during culture preservation it can be dried on Silica Gel.
Statement B during culture preservation it can be dried on Vasaline Gel.
(A) Both statements A and B are correct

(B) Both statements A and B are wrong

(C) Statement A is wrong and statement B 1s correct

(D) Statement A is correct and statement B 1s wrong

Chlorination is a process used for water purification the disinfection of chlorine
1s mainly due to the

(A) Formation of hydrochlorous acid when chlorine is added to water
(B) Formation of hydrochloric acid when chlorine is added to water
(C) Formation of hydrogen gas when chlorine is added to water

(D) Formation of hypochlorous acid when chlorine is added to watf:r

Some important blue green algae perform function as biofertilizer, because, they

(A) Convert atmospheric methane into ammonia then crop plants can absorb
readily

(B) Convert atmospheric nitrogen into useable form then crop plants can absorb
readily

(C) Induce numerous root-lets then the crop plants can absorb readily

(D) Convert to produce enzymes then the crop plants can absorb readily.
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24.

23.

26.

217.

28.

29.

The first pilot fermentor was erected in India at

(A) Indian Institute of Science, Bengaluru

(B) Central Food technological Research Institute, Mysuru
(C) Hindustan Antibiotic Ltd. Pune

(D) ICAR institute, New Delhi

Lactic acid was first discovered by scheele from sour milk Later on
identified the microorganisms involved in Lactic acid production.

(A) Mooreetal (1975) (B) Elliot(1975)
(C) Louis pasteur (1857) (D) Yamasato etal (1973)

In, India one of the following plants/weed are escaped from quarantine.
(A) Eichhornia weed (B) Cocoa plant
(C) Coffee plant (D) Parthenium weed

At the stockholm conference countries were deeply divided over the issue of

(A) Environmental Protection and Agricultural Development
(B) Environmental Protection and Economic Development
(C) Environmental Protection and Grassland Development

(D) Environmental Protection and forest development

Mycotoxicosis is the process of poisoning caused by indigetion of fungal toxin
1s called mycotoxin. It is produced in the food by fungus livesin

(A) Species of Aspergillus (B) Species of Brucella
(C) Eischerchia coli (D) Species of Shigella

In nature the obligate parasite can grow and multiply only on other living hosts
or living organisms choose in the following one is not obligate parasite.

(A) Chlamydiea (B) Pythium
(C) Mycorrhiza (D) Puccinia
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30.

31.

32.

33.

34.

35.

According to IUCN Red list, what is the status of Glorious-superba-a member
of Liliaceae.

(A) Endangered Species (B) Rare Species
(C) Vulnerable Species (D) Extinct species

The conservation of microorganisms within the natural habitat is also known as

(A) Insitu conservation (B) Invivo conservation
(C) Exvitro conservation (D) Exsitu conservation

Among the living organisms, the genetic diversity within a population is important
as because.

(A) The population is less susceptible to diseases.

(B) Individuals of the population can survive when the environment change.
(C) Museums can have more realistic collections

(D) Both a and b are correct

The term mutation was first coined by Hugodevries in 1880’s he conducted
breeding experiments on one of the plant as

(A) Ladysfinger plant (B) Vincarosea plant
(C) Sunflower plant (D) Evening primrose plant

Biological oxygen demand is a measure of

(A) Industrial wastes poured into water bodies

(B) Extent to which water 1s polluted with organic compound
(C) Amount of CO, inseperably combined with haemoglobin
(D) Amount of oxygen needed by green plants during night

A pollutant can be best defined as it

(A) Changes homeostasis of environment
(B) Has natural geochemical cycles

(C) Distrubs the natural flora and fauna

(D) Become stabilized inecosystem forever
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36.

37

38.

3%

There are two important events and to introduce air to the fermentor
to achieve positive pressure in vessel.

(A) Agitation and sterilization (B) Aeration and agitation

(C) Sterilization and Aeration (D) Screwing and sterilization

Parasexual cycle was discovered in imperfect fungi-Here, genetic recombination
occurs in vegetative cells by the mechanism of mitotic crossing over which
brings the same result, that of meiottic crossing over. Choose one of the correct
statement for parasexual cycle.

(A) Formation of homokaryotic mycelium
(B) Formation of heterokaryotic mycelium
(C) Nuclear fusion with haploid nuclei

(D) Multiplication of haploid strains

The transmission of Human immunodeficiency virus for which one of the
following statement 1s not correct.

(A) The chances of transmission from female to male are twice as from male to
female.

(B) Infection from transfusion of infected blood much higher than contaminated
needle.

(C) Infected mother can transmit the'infection to her baby during pregnancy at
child birth breast-feeding

(D) Transmission are more if a person suffers from sexual transmitted infections

Almost all the organisms contain double stranded DNA But viruses like
bacteriophage 174 single stranded circular DNA. However, it become ___ only
at the time of replication.

(A) Circular (B) Double stranded
(C) Superhelical coils (D) Twisted super coils
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40.

41.

42.

43.

44.

There are three main methods of transmission of airborne diseases. Choose the
following one is not airborne infection.

(A) Direct airborne (B) Indirect airborne
(C) Direct droplets (D) Decaying of vegetation

Mainly protein synthesis occurs in two steps and involve DNA, mRNA, tRNA
and aminoacids for which transcription process occure in and translation
process occure in respectively.

(A) Cytoplasm and Mitochandria
(B) Cell membrane and chloroplast
(C) Nucleus and cytoplasm

(D) Ribosomes and thylakoids

Lyophilization is a method of food preservation by rapid freezing and dehydration
of the frozen product under high vaccum. The dried product is sealed in foil.
This method is most useful for the preserving

(A) Milk and Ghee (B) Microbial growth
(C) Meat and Fish (D) Some anaerobic bacteria

In India, the patent Act (1970) allows the process of patents but not the ;
(A) Product patent (B) Product property
(C) Product trading (D) Product lagislation

USA has adopted a strong and uniform PR laws through out the world. It is
mainly protect the issues with respect to

(A) Many ethical issues of man in society
(B) Alteration of nutritional value by the industry
(C) Environmental issues raised by ecologists

(D) Mainly on plant breeders rights
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45.

46.

47.

48.

49.

Minchi is one type of oriental food, and it is prepared from . It contains
several species of molds, some bacteria and yeast before using the final product
must be boiled backed or fried.

(A) Bulbs and corns of Taroplant
(B) Steamed polished rice

(C) Gutan rich wheat

(D) Soyabeans with roasted wheat

area of intense microbial physiological activity of growing plants. It
is the unique habital for microorganisms.

(A) Root hairs (B) Rhizoplane
(C) Rhizosphere (D) Non-rhizosphere

Most widely used bacterial pesticide of bactrium is Bacillus thuringiensis
commercial preparation of B. thuringiensis registered in 12 manufacturing
companies in five countries used on numerous agricultural crops. This bacterial

insecticide has been successfully tested more than insect species.
(A) 140 (B) 145
(©):3139: = (D) 143

The chlamydiae/chlamydias are group of obligate intracellular parasites. They
are unable to generate sufficient ATP to support their reproduction. But, they
form small dense cells called elementary bodies. These bodies enter into the
living host body causing diseases. In the following choose one of the most
important diseases caused by Chlamydiae trachomatis to both men and women.

(A) Dysentery (B) Damage of kidny
(C) Infertility (D) Blood poisoning

The main object of the plant disease control is to prevent economic loss and
increase the value of the crop. control of plant diseases by physical methods are
more applicable. choose in the following one is not correct method in contract
of plant diseases under physical methods.

(A) steeping (B) Radiation
(C) Refrigeration (D) Heat treatment
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50. The collection of bacterial colonies containing all the individual genes of an

h

organism is called gene bank. During, initial establishment of gene bank, different
bacterial colonies must be raised. All the bacterial colonies should be stored for
longer time in defined medicine especially in liquid nitrogen at 0°C choose
the correct one which is most suitable for long term storage of bacterial cells.

(A) 100°¢ (B) —100°¢
() 0tc (D) -196°¢

PART - B
Write on the biological scope of immunology. [10]
Describe the biomass production of SCP (single cell protein). [10]
Detailed account on microbes role in mineral leaching and mining. [10]

What 1s transformation? Explain the modern techniques of introducing rDNA
into a plant cell. : [10]

Explain the sexually transmissible disease/infection/AIDS (aquired immune
deficiency syndrome) [10]
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